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S-1 Systems of Equations — Graphically

& Solving System of Equations by Graphing

What is a system of equations?!

A system of equations is when you have Lor more equations using the same variables!

» Tihc( 3( )h Lj \ O\ tothe system is the point that satisfies HL-L of the equations! (The

solution is written as an ordered pair!)
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¢ When graphing, you will encounter \3 possibilities!
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dow to SOLVE a System of Equations by GRAPHING!

Graph using the calculator & table.

Step 1: ara P ot Be sure your equations are in s slope-

equathions.
There are 2 steps to mtercegt form! \l MY+ b
solving a system
using a graph.
Step2: DO FNE iNes This is the solution! LABEL it by
nrersec+ ? circling it and wntmg the co coordinate.
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Solve the following system of equations graphically. .
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One More...
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It’s your turn! ©
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Regents Style! ~ These are problems from previous years Regents Exam!

1. The solution to the system below is...

a) (0, 4)

b) (2, 4)

b @2

d) (8, 0)

2. Two health clubs offer different membership
plans. The graph below represents the cost
of belonging to Club A and Club B for one
year.

Health Club Fees

What is the number
of the month when
the total cost is the
same for both clubs?
What is the cost?
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Graphing Practice! Graph each equation to find

the solution! Write the solution as an ordered pair!
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Self-Reflect...




